
 

 

 

                             Answer on Question #56126 – Math  – Vector  Calculus    

 

Let 

A=x^2yi−2xzj+2yzk 

, find Curl curl A. 
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                                                                          Solution 

 𝒄𝒖𝒓𝒍 𝑨 = |

𝒊 𝒋 𝒌
𝝏

𝝏𝒙

𝝏

𝝏𝒚

𝝏

𝝏𝒛

𝒙𝟐𝒚 −𝟐𝒙𝒛 𝟐𝒚𝒛

| = 𝒊 (
𝝏

𝝏𝒚
(𝟐𝒚𝒛) −

𝝏

𝝏𝒛
(−𝟐𝒙𝒛)) − 𝒋 (

𝝏

𝝏𝒙
(𝟐𝒚𝒛) −

𝝏

𝝏𝒛
(𝒙𝟐𝒚)) + 𝒌 (

𝝏

𝝏𝒙
(−𝟐𝒙𝒛) −

𝝏

𝝏𝒚
(𝒙𝟐𝒚)) = (𝟐𝒛 + 𝟐𝒙)𝒊 − (𝟎 − 𝟎)𝒋 +

+(−𝟐𝒛 − 𝒙𝟐)𝒌 =< 𝟐𝒛 + 𝟐𝒙, 𝟎, −𝟐𝒛 − 𝒙𝟐 > 



 

 

𝒄𝒖𝒓𝒍 𝒄𝒖𝒓𝒍 𝑨 = ||

𝒊 𝒋 𝒌
𝝏

𝝏𝒙

𝝏

𝝏𝒚

𝝏

𝝏𝒛

𝟐𝒛 + 𝟐𝒙 𝟎 −𝟐𝒛 − 𝒙𝟐

||

= 𝒊 (
𝝏

𝝏𝒚
(−𝟐𝒛 − 𝒙𝟐) −

𝝏

𝝏𝒛
(𝟎))

− 𝒋 (
𝝏

𝝏𝒙
(−𝟐𝒛 − 𝒙𝟐) −

𝝏

𝝏𝒛
(𝟐𝒛 + 𝟐𝒙))

+ 𝒌 (
𝝏

𝝏𝒙
(𝟎) −

𝝏

𝝏𝒚
(𝟐𝒛 + 𝟐𝒙)) = 𝟎 ∙ 𝒊 − (−𝟐𝒙 − 𝟐)𝒋 + 𝟎 ∙ 𝒌 =

= (𝟐𝒙 + 𝟐)𝒋 =< 𝟎, 𝟐𝒙 + 𝟐, 𝟎 > 
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